Name _________________________________________ Date ___________________  Core ____________
Solving Multistep Equations with the Distributive Property
	Directions: Identify the solution for each equation.

	1)   
[image: image1.wmf]3

5

5

)

2

(

9

-

+

-

=

-

+

x

x

x


	2)   
[image: image2.wmf])

2

(

4

5

)

2

(

3

+

=

-

+

r

r


	3) 
[image: image3.wmf])

3

(

2

10

)

4

1

(

+

=

-

+

-

-

g

g

g





	4) 
[image: image4.wmf]x

x

x

2

)

5

6

(

)

9

(

2

+

-

-

=

+

-


	5) 
[image: image5.wmf])

2

4

(

10

2

)

4

(

7

-

+

=

-

+

x

x

x


	6) 
[image: image6.wmf])

5

2

(

7

)

5

3

(

8

x

x

+

=

+

-





	Directions: Each problem has been incorrectly solved for the variable x. Identify which step the mistake was made and complete the problem to correctly solve for x. Solve the equations correctly below. 
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	The mistake is in step ___2______

The correct answer is x = ___-25__
	The mistake is in step ___5_____

The correct answer is x = 8  1/3

	The mistake is in step ___4______

The correct answer is x = __-1  2/3__



Explain the steps used to solve the equation below. Be specific!
10) –(-x + 5) – 8x = -29 – 5x

1. Distribute the negative to –x and 5.

2. Combine the x and -8 because they are like terms.

3. Move -5x to the other side of the equation by doing the opposite operation (add 5x)

4. Move the -5 to the other side of the equation by doing the opposite operation (add 5)

5. Divide -2x by -2 to isolate the variable. Do the same operation on the other side to maintain equality.

6. Simplify -24/-2. x = 12

x = -2





r = -7





g=-3 





x = -4/3





x = -20





x = -9/40
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